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General Instructions :

Read the following instructions carefully and strictly follow them :

(1) This question paper contains 34 questions. All questions are
compulsory.

(2) This question paper is divided into two Parts : Part — A and Part — B.

(3)  Part- A is compulsory for all candidates.

(4  Part — B has two options i.e. (I) Analysis of Financial Statements and
(1I) Computerised Accounting. Candidates must attempt only one of the
given options as per the subject opted in Part — B.

(5)  Question numbers 1to 16 and 27 to 30 carry 1 mark each.

(6) Question numbers 17 to 20, 31 and 32 are short answer type questions.
Each carries 3 marks.

(7) Question numbers 21, 22 and 33 are long answer type-1 questions. Each
carries 4 marks.

(8) Question numbers 23 to 26 and 34 are long answer type-II questions.
Each carries 6 marks.

9) There i1s no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks,
1 question of four marks and 2 questions of six marks.
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1. <hr=l, 13W g1 = Tk W o Freier & | fem 9 % s 10% a1 <2 ® 2 1,00,000
ST 0T ST T | B o1 SIETITA 0T T 6% dTNeh € § ST & o f0 SIR ¢ @1 2 | Fsm

o] forl X 8 hoT W =T fer Smwm 2
(A) 6% e (B) 10% di¥eh
(C) 8% diieh (D) SROT YT <hIS ATl T&! T S | 1

2. Tl qUT IHi T W o WIS & AT 4:1 % U § oY Sied 8 | I8 ol # 1/4 9
= foru sfifer =l ush Fom AISER s, T 38 uia: e & e fRam | e, st qen

fifer <1 7T T forTeM ST B
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4 1

3. ey, o qen fuy s wH & |reigr & quT SNy - g1 SUet-sIek died 9 | 1 9,
2023 1 AT 6l g &1 7S | IV IEICRI 4 FH 1 GG 6] T@H 1 HuR fora
T o= | 1} Wl 4:3 o UG H die 1 i form | oo qen fmw w1 srfoemy

AT 81
A) 43 (B) 3:2
(C) 5:2 D) 1:1 1

4. (a) Tovma fafirs 3 T 10 T % 6,000 THAT 3190 /IR BT 10% Hiftrem w feifa
T o ToTu 31ree 3t fepw | ey quf w1 @ stfrem &1 | wf sver/9=w afen
ST T T TR & o ot
JATEE W — T 3, 3MMeed W — T 3 (fifeaw gfed), vom Im=er © — T 3 9 A=y
AT T — 3 2 | 200 3971 /3 o Teh Geh ST o SATee o 91 & Tyof Ui
ST T T AT | TS T T et T off

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000 1
GEC))

(b) W fafies 3 T 10 Y= & 5,000 TwaT M /IF *1, ™= 10% Hfm w
Ferifera femam o e, 3 2 wfa 3iwr/3RR 6t i< Jr=ET 1 P T8 e W g
(Forfeit) & foram | g =g7am TR i@ w57 37l /9= o1 g wea g9: frifia

Tora ST Hehar 7, B

(A) T5,000 (B) 10,000

(C) % 12,000 (D) % 50,000 1
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PART -A
(Accounting for Partnership Firms and Companies)

1. Kanha, Resham and Nisha were partners in a firm. Nisha had given a
loan of ¥ 1,00,000 to the firm @ 10% p.a. The accountant of the firm is
emphasizing that interest on loan will be paid @ 6% p.a. At what rate the
interest on loan will be paid to Nisha ?

(A) 6%p.a. B) 10% p.a.
(C) 8%p.a. (D) No interest on loan will be paid. 1

2.  Gupta and Sharma are partners in a firm sharing profit in the ratio of 4:1.
They admitted Preeti as a new partner for 1/4th share in the profits, which
she acquired wholly from Gupta. New profit sharing ratio of Gupta,
Sharma and Preeti will be :
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4 1

3. Aditya, Vishesh and Nimesh were partners in a firm sharing profits and
losses equally. Aditya died on 1st July, 2023. Remaining partners decided
to continue the business of the firm and decided to share future profits in
the ratio of 4:3. The gaining ratio of Vishesh and Nimesh will be :
A 4:3 B) 3:2
(C) 5:2 D) 1:1 1

4. (a) Vishant Ltd. invited applications for issuing 6,000 equity shares of

% 10 each at 10% premium. The issue was fully subscribed. The
amount per share was payable as follows :
On application - % 3, on allotment - ¥ 3 (including premium), on first
call - % 3 and on final call - ¥ 2. Ashish the holder of 200 shares paid
the entire money along with allotment. The total amount received on
allotment was :

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000 1
OR

(b) M Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a premium
of 10% for non-payment of final call of ¥ 2 per share. The minimum
amount at which these shares can be reissued as fully paid up will

be :

(A) 5,000 (B) 10,000

(C) %12,000 (D) 50,000 1
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5. AU (A) : Tl Ooft faftr & srta, TRl % ISt @rd Hed ST 99 g9Iid § |

HROT (R) : worh 45 fafer < oraia, @t 7ei S8 o 3 g1 &1 9T, IS S,
JTETT, JTEWT T AT, 1 T Ueh STl WA H FohaT ST 8 S TTEIERT o 9o
GTd g & |

FrafaRea @ 9 w2 foepea =1 === Sifve

(A) ATH (A) TATHRT (R) SHT &l & 7UT HRT (R), 3 (A) i T8l 2@ 2 |

(B) 3ANYReA (A) 71 HR (R) GHI T&T 7, wAfehd R (R), 3R (A) I T2
T TR 2 |

(C) f¥ehe (A) & &, ifehd HRUT (R) TTeid & |

(D) FANRYT (A) TeTd 8, wifeh ruT (R) 9&1 2 | 1

6. (a) AT AYUT AT TS W hi ATIER off G 3:2 & FITA H & IUT B Siea off |
IFhI GSft AT % 5,00,000 AT X 1,00,000 &t | 5= 8% a1feh & § Yol W
= st AR off qem A= T 5,000 Ui WTE Sl €U | o i Jfeepr off |
foreht oft TTIeH & 9 31§ @ % 1,75,000 o1 | fawiiord fop S atet @ # 5=

T AT BATT
(A) % 45,000 (B) % 30,000
(C) 37,500 (D) % 40,000 1

3T

(b) iR T firan U W % ATHER 9 | 3HR T 20,000 TR S T Jf=RRT o
Safes frar T 50,000 T AaT 1 TR AT | PR 3R ¥ 1 oaqq g
FH & 91¢ 31 HE, 2023 I THT g Tt a9 T g ¥ T 5,60,000 AT |
iR 3 oft @t & ST 6t S ATeft Fet T B
(A) % 2,45,000 (B) % 2,65,000
(C) % 3,15,000 (D) % 3,00,000 1

7. SHANGRY (A) : ITESH FOIHAT W S 1 YA 30 e bl FohT ST 8 S 39 THR

SROTIET H HoT™ SATeT HUH sl Td LA & |

SR (R) : 918 HOET bl Y&t o gRT gL fohdT ST Tehel & 3R HEol TH
SRUTUST ETehi <hT oh13 1Lehis &l Tl 2 |

Fr=feRaa o o9&l foehe o1 == il

(A)  ARTHE (A) TATHR (R) THT Tl & 3T HR (R), 3 (A) i T8l SRS 2 |

(B) 3ANRYA (A) 71 HR (R) GHI T&T 7, wifehd R (R), 3R (A) I T2
AT TR 8 |

(C) f¥ehe (A) T &, ifehd SR (R) TTeid & |

(D) FANRYT (A) TTeTd 8, wifeh srul (R) 9&1 2 | 1
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5. Assertion (A) : Under the fixed capital method, partners’ capital
accounts always show a credit balance.

Reason (R) : Under the fixed capital method, all items like share of profit
or loss, interest on capital, drawings, interest on drawings are
recorded in a separate account called partners’ current account.

Choose the correct alternative from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct. 1

6. (a) Vanya and Aanya were partners in a firm sharing profit and losses
in the ratio of 3:2. Their capital were T 5,00,000 and ¥ 1,00,000
respectively. Vanya was entitled to interest on capital @ 8% p.a. and
Aanya was entitled to salary @ ¥ 5,000 per month. The net profit
before any appropriation was % 1,75,000. Vanya’s share in divisible

profit will be :
(A) % 45,000 (B) % 30,000
(C) % 37,500 (D) % 40,000 1

OR

(b) Omkar and Shiva were partners in a firm. Omkar was entitled to a
salary of ¥ 20,000 p.a. while Shiva was entitled to a salary of
% 50,000 p.a. Net profit for the year ended 31st March, 2023 after
charging salary of Omkar and Shiva was ¥ 5,60,000. The total
amount credited to Omkar’s capital account will be :
(A) %2,45,000 (B) %2,65,000
(C) %3,15,000 (D) 3,00,000 1

7. Assertion (A) : Interest on bearer debentures is paid to a person who
produces the interest coupon attached to such debentures.
Reason (R) : Bearer debentures are transferred by way of delivery and
the company does not keep any record of these debenture holders.
Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1
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8. (a) 3 fafeg AT 24,00,000 ht aferafcri 61 33 oA | 56 Yo 1 PTaH 384
% 100 S % 9% RUTTHAT ol 4% §g T AT hieh foha | forskar ot fifia fopn

U SROTIAT <hl G oft -
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000 1

Jrean
(b) 1 W%, 2023 I A feIfieg 7 ¥ 100 TS %, 10,000, 10% FITHAT Sl 10%
fiftrr w fifid femam foment siiem 10% Sftrm o feren STem | o= <6 fiea

X g1 <k ¥y B
(A) % 2,00,000 (B) % 1,30,000
(C) % 1,00,000 (D) % 80,000 1

9. (a) o, dar o oy vk w S arEier off | 31 1", 2023 w1 0] FaTEa & g | 0]
%I ¢ TRT % 2,17,000 T LT 35h 0T GTd H L {1 T | W0 3 39 AT W
IRl SAffEm, 1932 % TEgMi & IR &1 o W agAfd & | 98 @ i @

0] %1 ST ¢ BN, T8 B -
(A) 9% dTieh (B) 6% afieh
(C) 12% diNeh (D) 10% =ies 1

Jrean

(b) T, A T ST T TH H SeR-SUE o WEIER & | T <Al Harfagi o geErd
o aur o % 9ot 99 I € 1,56,000 9UT % 1,08,000 & | WH i 3 Gt
% 2,80,000 fagifd &t 73 | ¥ fol forem o f6 457t 9w wrieRt & oy fawrsa
I H gt | S T SR H i & few e o |
(A) % 40,000 (B) % 12,000
(C) % 20,000 (D) % 32,000 1

freferRaa shreafe feurfa i ufeu 3Tk we7 T 10 TE 11 & W T :

rfefer qem Ty Ush wH § ATSER & 9T 2:1 < 31U H o1 -g1iH 1 faveH st
& | 1 3T, 2022 1 3Fh! Toft SHAT: T 5,00,000 T  4,00,000 2t | 31 916, 2023
%I T BT TN H, hig HI THREISH i & 99 HH 4 3 81,000 T G AT fid fopam |
ATHEH! Hor@ o AR Ul WS 10% aTies &1 & fezm e |

10. Al g SRy o1 ot =t fmferfaa ® & fepm argama o fean smam 2

(A) 54 B) 2:1
© 1:1 (D) 8:1 1
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8. (a) Arnav Ltd. purchased assets worth ¥ 24,00,000. It issued 9%
debentures of ¥ 100 each at a discount of 4% for payment of the
purchase consideration. The number of debentures issued to vendor

were :
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000 1

OR
(b) On 1st May, 2023, Amrit Ltd. issued 10,000, 10% debentures of ¥ 100
each at a premium of 10% redeemable at a premium of 10%. Loss on
issue of debentures will be :
(A) %2,00,000 (B) %1,30,000
(C) %1,00,000 (D) % 80,000 1

9. (a) Riya, Rita and Renu were partners in a firm. On 31st March, 2023
Renu retired. The amount payable to Renu T 2,17,000 was
transferred to her loan account. Renu agreed to receive interest on
this amount as per the provisions of Partnership Act, 1932. The rate
at which interest would be paid to Renu is :

(A 9% p.a. (B) 6% p.a.
(C) 12% p.a. (D) 10% p.a. 1
OR

(b) Ravi, Vani and Tomi were equal partners in a firm. After the
retirement of Vani, the capital balances of Ravi and Toni were
% 1,56,000 and % 1,08,000 respectively. The new capital of the firm
was determined at ¥ 2,80,000. It was decided that the capital will be
in proportion of the profit sharing ratio of the remaining partners.

Toni will bring for deficiency of his new capital.
(A) % 40,000 B) % 12,000
(C) % 20,000 (D) % 32,000 1

Read the following hypothetical situation and answer questions 10 and 11 :

Aditi and Saurabh were partners in a firm sharing profits and losses
in the ratio of 2:1. On 1st April, 2022 their capitals were T 5,00,000 and
% 4,00,000 respectively. Before any appropriation, the firm earned a Net
profit of ¥ 81,000 for the year ended 31st March, 2023. According to the
partnership deed, interest on capital was to be provided @ 10% p.a.

10. Interest on capital will be provided to Aditi and Saurabh in which of the
following ratio ?

(A) 54 (B) 2:1
©) 11 (D) 8:1 1
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11.  3fefa <t gt = g
(A) 50,000 (B) % 45,000
(C) % 40,500 (D) % 54,000 1

12. ooy qor sy weh wH & ATSieR 2 | Hie) gk fomrdl & 37 8 v ffvaa ufy w6 s
HT 2 | I W RN 15% a1fies g & gTia femarm Siar 2 | o & 37=q o Hig] &
JTET WSS 9,000 T | H] <6 TTEVT T TS TG Tehall 77 o
(A) 67ERH (B) 7% UER T
(C) 4% "gad (D) 49T 1

13. T AERI WY o foeed W % 34,000 % ¢ER 9 | ¥ 1,000 % ¢HER & T a1 I
TR & 60% h! I 3T T8 | SHERT T T W HH F @Id ! AW Foham Smam qen

Tepat UfyT & 2
(A) ageh @@ % 33,000 9 (B) <Y-gIH @rar T 1,000 9
(C) Tehg @I 19,8009 (D) SR @I T 14,200 ¥ 1
14. (a) T 99 o A o1 oG A -g1 o @rd 4 78 fhan smgehar @ ?
(A) T R=S

(B) 3T W A
(C) WTIERI = YTaH foam o feptrn
(D) HTEER T JH 1
37T
(b) T TTSCR o T & THA HH 1 fRfe foawor 2 80,000 1 w=m arfoyfd d==
oot @1 o | U &fagfd 1 2 1,00,000 % € BT SEH HRET T |
% 20,000 hT HHY =T
(A) TR @Td B T e S |
(B) YHcHTeR @Td | ST feham STaT |
(C) @T3ier % ot @t # = fea s |
(D) @T3ieri % ol @t # s fepa s | 1

15. st Srfefaem, 2013 % Saei o AR Sfayfa fiftrem o6 s f= 8 9 formens forg
&1 Toha ST T :
(A) 31T/ Bl T T B % forw
(B) AT e SHE 3130 /314l o e o fete
(C) RIS o TTH 92 g Rl 3rdforfiad s o fog
(D) AT =51 ! IfeAiad s & fere 1
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11. Interest on Aditi’s capital will be :
(A) 50,000 (B) % 45,000
(C) % 40,500 (D) % 54,000 1

12. Vishnu and Mishu are partners in a firm. Mishu draws a fixed amount at
the end of every quarter. Interest on drawings is charged @ 15% p.a. At
the end of the year interest on Mishu's drawings amounted to ¥ 9,000.
Interest on drawings was charged on drawings of Mishu for :
(A) 6 months (B) 7 % months
(C) 4% months (D) 4 months 1

13. On the dissolution of a partnership firm there were debtors of ¥ 34,000.
Debtors of ¥ 1,000 became bad and 60% was realized from the remaining
debtors. Which account will be debited and by how much amount on the
realisation from debtors ?

(A) Realisation A/c by ¥ 33,000 (B) Profit & Loss A/c by ¥ 1,000
(C) Cash A/c by % 19,800 (D) Debtors A/c by T 14,200 1

14. (a) Which one of the following items is not dealt through Profit and Loss
Appropriation Account ?

(A) Interest on Capital (B) Interest on Drawings
(C) Rent paid to partners (D) Partner’s salary 1
OR

(b) At the time of admission of a partner, the Balance Sheet of the firm
showed a workmen compensation reserve of ¥ 80,000. The claim for
workmen compensation was estimated at ¥ 1,00,000. The shortfall of
$ 20,000 will be :

(A) debited to Revaluation Account

(B) credited to Revaluation Account

(C) debited to Partners’ Capital Accounts

(D) credited to Partners’ Capital Accounts 1

15. As per the provisions of Companies Act, 2013 Securities Premium cannot
be utilized for :

(A) buy back of shares

(B) 1issue of partly paid bonus shares

(C) writing off discount on issue of debentures

(D) writing off preliminary expenses 1
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16. ¥ 1,50,000 i 35 TREUTT < s FTahel o foIq At ferskar =l  1,25,000 < 01 S
S /S o1 FoTee femar SiTan & @@ € 25,000 o 919 SRl ST foharm ST
(A) -7 forawor |
(B) =fd @ T
(C) T Tww @ |
(D) H-BIN GHREISH @Td | 1

17. S, o 9U1 AW U AEieR WH ST TTEeR off quT 2:2:1 % U § oAT-g1H
forrer et off | 1 37199, 2023 T 38 SUS-ssR SUTd § a1y faafoa e & forg
Tgwfa 4 | 39 ffer sl wH 31 g&dent § ¥ 50,000 1 HHT = o7 | I8 g g3 1
(i)  WH <l AT T et T 3,00,000 foram ST |
(i) FEIRTET o TR T QAT o AMERUT 9 AT <l T T 30,000 ot |

HH <l TEdeh] 1 SIS -1 o foTu 3rTarzres Tsten wfafdat ifsa | 3

18. (a) WeYW fafies = sw fefiee & ¥ 4,50,000 1 T a1 AMAH T shT T | 30
ferfireg &1 WM T 50,000 T Th = <ot AT AT & fot T 100 T o 6%
RO bl 20% o T Fifra sheeh fepam i |
Y A -¢HT o foT gt feafiree <6t qeenl § Stravaes Usm=n gfafsai i | 3

g
(b) TRt TS T T 100 I & 500 30 /I”/ 1 80 (Forfeit) T 20 Uid
AR/ 1 TUW AT AT T 25 Wi IR/ HT gEll qo1 HqW A=A Bl
YA T8 i T fofdm | 90 | 250 379 /33 1 T 50 Wl 3791 /371 9 qui
yed yA:frifta st feam o 3wt/ % g (Forfeit) @em ga:ffga <
s gfafsat Hifs | 3

19. (a) 3TTYY AT HY HPGR & IUT AT S-S Sied & | IoH @9 H TS 9H 6
foTe =91 &l 731 |TEeR s @1 Fvig foRn | 33 32w & faw wH i 'fa
HoTeh STTUCTHI o TR 91 oh $ha oh STTETR T el ST o |
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16. If vendors are issued fully paid shares of ¥ 1,25,000 in purchase
consideration of net assets of ¥ 1,50,000, the balance of ¥ 25,000 will be
credited to :

(A) Statement of Profit and Loss

(B) Goodwill Account
(C) Capital Reserve Account
(D) Profit and Loss Adjustment Account 1

17. Reeha, Meenu and Sara were partners in a partnership firm sharing
profits and losses in the ratio of 2:2:1. With effect from 1st April, 2023,
they agreed to share profits and losses equally. On that date, there was a
General Reserve of 50,000 in the books of the firm. It was agreed that :

(1) Goodwill of the firm be valued at % 3,00,000.

(1) Profit on revaluation of assets and re-assessment of liabilities
amounted to ¥ 30,000.

Pass necessary journal entries for the above transactions in the
books of the firm. 3

18. (a) Mahesh Ltd. purchased Plant and Machinery from Ish Ltd. for
T 4,50,000. T 50,000 was paid by cheque to Ish Ltd. and the balance
by issuing 6% debentures of ¥ 100 each at a discount of 20%.

Pass the necessary Journal Entries for the above transactions in the
books of Mahesh Ltd. 3

OR
(b) Manika Ltd. forfeited 500 shares of ¥ 100 each for non-payment of
first call of ¥ 20 per share and second and final call of ¥ 25 per share.

250 of these shares were reissued at T 50 per share fully paid up.
Pass the Journal Entries for forfeiture and reissue of shares. 3

19. (a) Aayush and Krish are partners sharing profits and losses equally.
They decided to admit Vansh for an equal share in the profits. For
this purpose, the goodwill of the firm was to be valued at four years
purchase of super profits.
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JeEn
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31 W, 2023 I 376 HATHIT &l AT | TEOT, TR AT ST o HiTST § AR
S-SR S1e 31 TR T | 3701 o HaTi-e 8 I WH 3hi SATHT o1 Fodieh
%9,00,000 feram 7T |

319 ST I TEAT H S §U, BTN W1 @it o1 TA1fd o oi@ieh o foIq, 3760
1 T T 3TeREeh UsHme1 Safd hif | 3

20. 3G IR AT Th ®H o TTHER & TAUT 3:2 o U § AH-IH T fawsq &td o |
3I7eht Tl Ot shEeT: 3 4,00,000 T % 2,00,000 off | T o @Id TR A o q9EIq
g T e T 26 et % Reeer & 9d Seert Horg ¥ SETR 6% a1t @ d T
=T fean ST o ; 578 AeieRi 6 USh @i 3§ S ! foRan R |
e FHRISH U= Sfafd i | 370 Rl ! TaudT 9 gy | 3

21. Tl fafids ¥ 100 Y&k 6 75,000 3790/ H fawemd % 75,00,000 1 31fekd ISt
% |19 Tsfiehd ot | PO A 45,000 St /31T 3 T 3 foTu STRIEH SR fRT |
T 7 M e TehR & o
JEE W - ¥ 30 Ui 397/3IR, & T — T 30 T 3797 /3IRR, TUH AT T — T 25
i 3797/ AT AT 31| I W |
42,000 31971 /3T o6 TIu. Eie W g am |t STraent i 3Teed L fem T |
I, f@ 3,300 3791/ 1 A& fhaT T A1, ST AT BT PIAH HH H
G &I | 3Heh 37 /I b1 80T (Forfeit) T foram mam |
st srfafem, 2013 <t SR 111, 9T 1 < IaR Sra o fefa foawer § ot /9rr
St S ST | @t < e ot §E1ET | 4
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The balance sheet of the firm on 31.3.2023 before admission of Vansh
was as follows :

Balance Sheet of Aayush and Krish as on 31.3.2023

Liabilities Amount Assets Amount
®) ®)

Capitals : Machinery 75,000

Aayush 90,000 Furniture 15,000

Krish 50,000 1,40,000 | Stock 30,000

General Reserve 20,000 | Debtors 20,000

Loan 25,000 | Cash 50,000
Creditors 5,000

1,90,000 1,90,000

The normal rate of return is 12% per annum. Average profit of the
firm for the last four years was ¥ 30,000. Calculate Vansh’s share of
Goodwill. 3
OR

(b) Varun, Tarun, Arun and Barun were partners in a firm sharing
profits in the ratio of 5:3:2:2. Arun retired on 31st March, 2023.
Varun, Tarun and Barun decided to share future profits equally. On
Arun’s retirement, Goodwill of the firm was valued at ¥ 9,00,000.
Showing your workings clearly, pass the necessary Journal entry for
treatment of Goodwill on Arun’s retirement without opening goodwill
account. 3

20. Atul and Gita were partners in a firm sharing profits and losses in the ratio
of 3:2. Their fixed capitals were ¥ 4,00,000 and ¥ 2,00,000 respectively. After
the accounts for the year were prepared, it was noticed that interest on
capital @ 6% p.a., as provided in the partnership deed, was not credited to
the capital accounts of partners before distribution of profits.
Pass the necessary adjusting Journal entry. Show your workings clearly. 3

21. Ronit Ltd. was registered with an authorised capital of T 75,00,000
divided into 75,000 equity shares of ¥ 100 each. The company invited
applications for issuing 45,000 shares.

The amount was payable as follows : T 30 per share on application, ¥ 30 per
share on allotment, ¥ 25 per share on first call and balance on final call.
Applications were received for 42,000 shares and allotment was made to

all the applicants. Charvi, to whom 3,300 shares were allotted, failed to
pay both the calls. Her shares were forfeited. Present the share capital in

the Balance Sheet of the company as per Schedule III, Part I of the
Companies Act, 2013. Also prepare notes to accounts. 4
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30 THaFR, 2023 W1 TE 61 9o &1 T3 | Uoh ATEIGR hl Jcg T ATHGH Hoig H 9 =1

23.

67/4/1/21/QSS4R

BIERICRZ 1IN

()

wifa <1 T e i 9T o6 3fEd 1Y o €1 9NT o ShY oh ST 9L <kl SIRAT |
foset €9 a9t o @9 9 : 2020-21 T 45,000; 2021-22 T 90,000 AT 2022-23
% 1,35,000.

(i) 9cg I Teifer Tk Yk TTSICR < ATH <hI TTUMET fUscl FH Ul o 3TEd AT % IR T
i SRt |
TEH o IAUTTRTIET ol T i oh ToTT IHeRT Yoit AT IR I |

(a)

(b)
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22. Ram, Ravi and Rohan were partners sharing profits in the ratio of 2:3:1.
On 31st March, 2023, their Balance Sheet was as follows :
Balance Sheet of Ram, Ravi and Rohan as on 31.3.2023

Liabilities Amount }) Assets Amount )
Creditors 3,62,000 | Cash 14,000
General Reserve 18,000 | Bank 2,96,000
Capitals : Stock 80,000

Ram 1,00,000 Debtors 3,00,000
Ravi 2,00,000 Less : provision for
Rohan 3,00,000 6,00,000 | doubtful debts 10,000 2,90,000
Investments 50,000
Land 2,50,000
9,80,000 9,80,000

Rohan died on 30th September, 2023. On the death of a partner the

partnership deed provided for the following :

(1) Goodwill was to be valued at two years purchase of average profit of
last three years. The profits for the last three years were : 2020-21
% 45,000, 2021-22 % 90,000 and 2022-23 % 1,35,000.

(1) Deceased partner’s share of profit till the date of his death will be
calculated on the basis of average profit of last three years.

Prepare Rohan’s Capital Account to be rendered to his executors. 4

23. (a) Lazal Ltd. invited applications for issuing 2,00,000 equity shares of ¥ 10
each, at 20% premium. Amount per share was payable as follows : ¥ 5 on
application ; ¥ 4 (including premium) on allotment ; and balance on first
and final call. Public applied for 3,20,000 shares, out of which applications
for 20,000 shares were rejected and shares were allotted on pro-rata basis
to the remaining applications. Kavita, an applicant of 15,000 shares failed
to pay allotment and call money. Her shares were forfeited.

Pass necessary Journal entries for the above transactions in the
books of the company. 6
OR

(b) Chand Ltd. invited applications for issuing 1,00,000 equity shares of
% 10 each at a premium of ¥ 2 per share. The amount per share was
payable as follows : ¥ 4 (including premium) on application, ¥ 5 on
allotment and balance on first and final call. Applications were
received for 1,80,000 shares of which applications for 30,000 shares
were rejected and remaining applicants were allotted shares on pro-rata
basis. Mansi holding 5,000 shares failed to pay first and final call
money and her shares were forfeited.
Pass necessary Journal entries for the above transactions in the
books of the company. 6
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9,000
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54,000

48,000
60,000
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3,00,000 1,20,000
3,84,000 3,84,000
1 310, 2023 i I8 o9 § 1/4 W ok [oTT TT8d bl T 311 T Teh 73T HTSER
ST :
(i) =mead OGSt o ' H T 90,000 T TN T o6 37U 9T % folw
% 30,000 &AW |
(ii) 3TGT TIGH T YA T TeAT ST |
(iii) e I 10% A hIT A |
(iv) gg;ﬁooé%@m,ﬁﬂwﬁwgﬁaﬁﬁﬁﬁmw%,wﬁ@%ﬁm
|
Wi Shl JETehl T SUUF T -1 oh ol 3TTeeeeh Tsima= Ffafdar Hifaw |
GO
T, shifex qen fopaTM v % & |TRigR A quT 7:2:1 % U § o §ied o |
31 AT, 2023 i 39eh1 fRufd feremor fr yepm o -
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1,20,000
1.80.000

(b)

et T et T
® ®
ECIE ufiy 12,00,000
EE]] 9,60,000 o 9,00,000
HIfex  8,40,000 HATER 3,60,000
fpa™ 9.00.000| 27,00,000 | =ik 6,60,000
= 999 3,00,000 | eer 6,00,000
HIR &fafd g 5,40,000 | =T : e ol
THER 3,60,000 | & foTu yrau™ 30.000| 5,70,000
EER- U 2,10,000
39,00,000 39,00,000
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24.

(b)

(a) Anikesh and Bhavesh are partners in a firm sharing profits in the

ratio of 7:3. Their Balance Sheet as on 31st March, 2023 was as

follows :
Balance Sheet of Anikesh and Bhavesh as on 31st March, 2023
. e1ses Amount Amount
Liabilities ?) Assets ?)
Creditors 60,000 | Cash 36,000
Outstanding wages 9,000 | Debtors 54,000
General Reserve 15,000 | Less : Provision for
doubtful debts _ 6,000 48,000
Capitals : Stock 60,000
Anikesh 1,20,000 Furniture 1,20,000
Bhavesh 1,80,000 | 3,00,000 | Machinery 1,20,000
3,84,000 3,84,000

On 1st April, 2023 Chahat was admitted for 1/4th share in the profits
on the following terms :

()

share of Goodwill premium.

(1)
(iii)

Outstanding wages will be paid.
Stock will be reduced by 10%.

Chahat will bring ¥ 90,000 as her capital and ¥ 30,000 as her

(1v) A creditor of ¥ 6,300, not recorded in the books, was to be taken

into account.

Pass necessary Journal Entries for the above transactions in the

books of the firm.

OR

Prina, Qadir and Kian were partners in a firm sharing profits in the
ratio of 7:2:1. On 31st March, 2023 their Balance Sheet was as follows :
Balance Sheet of Prina, Qadir and Kian as on 31st March, 2023

. e1ses Amount Amount
Liabilities ®) Assets ®)
Capitals : Land 12,00,000
Prina 9,60,000 Building 9,00,000
Qadir 8,40,000 Furniture 3,60,000
Kian 9.00,000| 27,00,000 | Stock 6,60,000
General Reserve 3,00,000 | Debtors 6,00,000
Workmen’s Less : Provision for
compensation Reserve | 5 40,000 | doubtful debts _ 30,000| 5,70,000
Creditors 3,60,000 | Cash at Bank 2,10,000
39,00,000 39,00,000
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ol T 319 AT - TawTSie 31guTa 3:2 8§ o foram |

(iv) 4,000 < TN ST T PTaH I gRT foarm 7/ |

(v) I8 HH BT 40,000 1 07 fem a et farfereq spram s feam mm |

(vi) 1 39 9fd % 2 10,000 o RT BT A 10% o8 T 3 FoAq Tgwd 81 778 | 6

26. frefaRaa uftfeufat @ sriar fafieg i geaehi 3 o & e qen ot & fefm
T §3 /T B STARIRIT i o AU 377w UsHT= Sfafdat Hif
i) ¥ 1,000 I & 200, 9% T BT A 10% g W T, Seept sem
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(i) T 1,000 Y& % 300, 11% T 1 T 5% w3 WX T T, fomept sem
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On the above date Qadir retired on the following terms :

(1) Goodwill of the firm was valued at % 12,00,000.

(11) Land was to be appreciated by 30% and building was to be
depreciated by ¥ 3,54,000.

(111) A provision of 6% is to be maintained on debtors.

(iv) Liability for workmen’s compensation was determined at
% 1,40,000.

(v) Amount payable to Qadir was transferred to his loan account.

(vi) Total capital of the new firm was fixed at ¥ 16,00,000 which will
be adjusted according to their new profit ratio by opening
current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

25. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Tina and Rina after the various
assets (other than cash and bank) and external liabilities have been
transferred to realisation account :

(1) There was an outstanding bill for repairs for which ¥ 20,000 were
paid.

(1) The firm had stock of ¥ 80,000. Tina took over 50% of the stock at a
discount of 20% while the remaining stock was sold off for ¥ 52,000.

(111) The firm had 100 shares of ¥ 10 each which were taken over by the
partners at market value of ¥ 20 per share in their profit sharing
ratio of 3:2.

(iv) Realisation expenses of ¥ 4,000 were paid by Rina.

(v) Tina had given a loan of ¥ 40,000 to the firm which was duly paid.

(vi) Rina agreed to pay off her husband’s loan of ¥ 10,000 at a discount of
10%. 6

26. Pass necessary journal entries relating to issue of debentures and to write

off discount/loss on issue of debentures in the books of Ajanta Ltd. in the

following cases :

(1) 200, 9% debentures of ¥ 1,000 each are issued at 10% discount and
redeemable at par. Balance in Securities Premium account 1is
% 15,000.

(11) 300, 11% debentures of ¥ 1,000 each are issued at 5% discount and
redeemable at a premium of 10%. Balance in Securities Premium
account 1s ¥ 35,000. 6
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PART -B
OPTION -1
(Analysis of Financial Statements)

27. (a) The tool of ‘Analysis of Financial Statements’ which helps to assess
the profitability, solvency and efficiency of an enterprise is known as :

(A) Cash flow statement (B) Comparative statement
(C) Common size statement (D) Ratio analysis 1
OR
(b) __ 1s also known as the Acid Test Ratio.
(A) Current ratio (B) Quick ratio
(C) Gross profit ratio (D) Return on investment ratio 1

28. Quick ratio of Megamart Ltd. is 1.5:1. Which of the following transactions
will result in decrease in this ratio ?
(A) Sale of goods costing ¥ 10,000 for ¥ 12,000.
(B) Cash collected from trade receivables ¥ 41,000.
(C) Purchase of goods for cash ¥ 38,000.
(D) Creditors were paid T 11,000. 1

29. (a) Statement I : Financing activities relate to long term funds or
capital of an enterprise.

Statement II : Separate disclosure of cash flows arising from
financing activities is important because they represent the
extent to which expenditures have been made for resources
intended to generate future income and cash flows.

Choose the correct option from the following :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is incorrect and Statement II is correct.

(D) Statement I is correct and Statement II 1s incorrect. 1

OR
(b) What will be the effect of transaction ‘Payment of employee benefit
expenses’ on the cash flow statement ?

(A) Outflow from operating activities.

(B) Outflow from investing activities.

(C) Outflow from financing activities.

(D) No effect on cash flow. 1
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30. T R) fsma ®)
frar 2,00,000 1,80,000
ECIIE] 3,00,000 —

STed FEAT | et foramehetdi @ The JaTg’ BT
(A)  3,20,000 FA=<dTg (B) ¥ 3,20,000 sfgdtg

(C) % 20,000 sfgats (D) % 20,000 3T=<dig 1
31. ot arfafm, 2013 1 g 111, 90T 16 18R, T shea o feufa foawr § fm
HE[ 1 G 3okl T ST-3fTehl (TG 1S 7) o FwTd afiehd ShIfaIT :
() Subdsm G  defa afim (iii) dsfima SRk T W 3
32. Ueh HIHT ol FTe] ST 3:1 AT A AT 1.2 : 17 | Afe srfehe 46t 7 1,80,000
B dl ot =Te] uherfRRI dur Efed o o Hifv | 3
33. (a) T g1 & waw fofide 1 amm= R fRuf foawor dam <hifse
31 W=, 2023 9 vy fafies o1 feafe foemor
feator died. | 31.3.2023 31.3.2022
® ®
[. EUdrug eFd :
1. Iy /TR et
(a) HHar 37/ Y 30,00,000 15,00,000
(b) T= UL TR 10,00,000 5,00,000
2. 39 ¢Fad 20,00,000 20,00,000
3. 9o A 20,00,000 10,00,000
L3Sl 80,00,000 50,00,000
0. viEmfeEr
1. 7= gfemfaat 40,00,000 30,00,000
2. e aiEE Rt
(2) T (AT 40,00,000 20,00,000
L3Sl 80,00,000 50,00,000
AET
(b) T gt @ a8 ferfies &1 qerTees ey -1t forawor dam hifs
foator 31.3.2023 | 31.3.2022
T 3P (3) 40,00,000 | 20,00,000
ST Rieh 1 367 (3) 24,00,000 | 12,00,000
Tieh T IR (ST Tieh sha T %) 25% 20%
I T (3) 2,00,000 | 1,60,000
gy 40% 40%
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30.

31.

32.

33.

Purchased )

Sold )

Investments

2,00,000

1,80,000

Goodwill

3,00,000

From the above information, ‘Cash flows from investing activities’ will be :

(A) Inflow X 3,20,000
(C) Outflow % 20,000

(B) Outflow % 3,20,000
(D) Inflow % 20,000

Classify the following items under Major Heads and Sub-Heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

(1) Accrued Income

(1) Capital work-in-progress

(11) Capital Advances

A business has a current ratio of 3:1 and quick ratio of 1.2 : 1. If working

capital 1s ¥ 1,80,000, calculate total current assets and inventory.

(a) Prepare a Common Size Balance Sheet of X Ltd. from the following

information :
Balance Sheet of X Ltd. as on 31st March, 2023
Particulars Note | 31.3.2023 31.3.2022
No. ®) ®)
I. Equity and Liabilities :
1. Shareholders’ funds
(a) Equity Share Capital 30,00,000 15,00,000
(b) Reserves and Surplus 10,00,000 5,00,000
2. Non-current liabilities 20,00,000 20,00,000
3. Current Liabilities 20,00,000 10,00,000
Total 80,00,000 50,00,000
I1. Assets :
1. Non-current assets 40,00,000 30,00,000
2. Current assets
(a) Inventories 40,00,000 20,00,000
Total 80,00,000 50,00,000
OR
(b) From the following information prepare a Comparative Statement of
Profit and Loss of Y Litd :
Particulars 31.3.2023 31.3.2022
Revenue from operations (%) 40,00,000 20,00,000
Purchase of stock in trade (%) 24,00,000 12,00,000
Change in inventories (% of purchase 25% 20%
of stock in trade)
Other expenses (%) 2,00,000 1,60,000
Tax rate 40% 40%
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34. 31.3.2023 i 9Rq 79 fefirde 1 fefa feremor f yemm o -

Get More Learn

ing Materials Here: &

31.3.2023 ) WRa A fafies o1 Rl fommor
e ded. |31.3.2023 | 31.3.2022
] ® ®
I HHAT 9T eI ;
1. Y /TR et
(a) 3T97/3RRGSH 14,00,000 | 10,00,000
ORERRE] 1 5,00,000 | 4,00,000
2. 379 <IA
EREASIEIERI 5,00,000 | 1,40,000
3. =Te] ¢Fand
(a) AT &I 1,00,000 60,000
(b) Y- JFEH 2 80,000 60,000
A 25,80,000 | 16,60,000
I1 ufemfeEt
1. = gREmfrt
(a) TR it
(HfT, Ho T IR0 AT I
)
(i) T grEErEi 3 16,00,000 | 9,00,000
, T TSl I
(ii) I aREafaT 4 1,40,000 | 2,00,000
2. =T aiEHataEt
(a) ik (HTeTg=) 2,50,000 | 2,00,000
(b) ST ITH 5,00,000 | 3,00,000
(c) UhS Td Uhg oo 90,000 60,000
Rl 25,80,000 | 16,60,000
WAl o J1ed :
e, e 31.3.2023 | 31.3.2022
, , ® ®
1. | o= Ug ey
T -BTH Terewor o1 9w 5,00,000 | 4,00,000
5,00,000 | 4,00,000
2. | g-afy yay :
EIRNICOIC] 80,000 60,000
80,000 60,000
3. tgfqﬁemﬁﬁ
(Gufa, S a1 39hTUT)
18,50,000 | 10,00,000
T : ThA ToIg™ (2,50,000) | (1,00,000)
16,00,000 | 9,00,000
4. %ﬂﬁ&lﬂﬁ?ﬁ
1,40,000 | 2,00,000
1,40,000 | 2,00,000
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34. Following is the Balance Sheet of Bharat Gas Ltd. as at 31.3.2023 :
Balance Sheet of Bharat Gas Ltd. as at 31.3.2023
Particulars Note | 31.3.2023 | 31.3.2022
No. ®) ®)
I Equity and Liabilities :
1. Shareholders’ funds
(a) Share capital 14,00,000 | 10,00,000
(b) Reserves and Surplus 1 5,00,000 | 4,00,000
2. Non-current Liabilities
Long term borrowings 5,00,000 | 1,40,000
3. Current liabilities
(a) Trade payables 1,00,000 60,000
(b) Short term provisions 2 80,000 60,000
Total 25,80,000 | 16,60,000
II Assets:
1. Non-current Assets
(a) Fixed Assets
(Property, plant and equipment
and intangible assets)
(1) Tangible assets 3 16,00,000 | 9,00,000
(Property, plant and equipment)
(11) Intangible assets 4 1,40,000 | 2,00,000
2. Current Assets
(a) Inventories 2,50,000 | 2,00,000
(b) Trade receivables 5,00,000 | 3,00,000
(¢) Cash and cash equivalents 90,000 60,000
Total 25,80,000 | 16,60,000
Notes to Accounts :
Note Particulars 31.3.2023 | 31.3.2022
No. ®) ®)
1. | Reserves and Surplus :
Balance in Statement of Profit and Loss 5,00,000 4,00,000
5,00,000 4,00,000
2. | Short term provisions :
Provision for Taxation 80,000 60,000
80,000 60,000
3. | Tangible Assets :
(Property, plant and equipment)
Machinery 18,50,000 | 10,00,000
Less : Accumulated Depreciation (2,560,000) | (1,00,000)
16,00,000 9,00,000
4. | Intangible Assets :
Goodwill 1,40,000 2,00,000
1,40,000 2,00,000
67/4/1/21/1QSS4R Page 27 of 32

=X

Get More Learning Materials Here: &

@’E www.studentbro.in

P.T.O.




Fafafia =T : 99 & SRH T 3,00,000 AW <t Teh #3fH oI, foid W wehfaa qeagm™
% 45,000 o1, ¥ 1,35,000 H =1 =T |

T TohaTeheTdl & Ushg TaTg’ shl TTUMT shIfTT | 6
-9
faweq - 11
(frnfem Sae)
27. T4 ¥ 9 1 91 9Tt Y M1 TR <hl HH 8 9Ifd 3 99T Gigeaal 221 hue
SHER?
(A) e (B) wffther
(C) SHiER (D) (A) T (B) gAI 1
28. (a) U ¥ USRI AT 1 THT W Sl Teh ST S{GAT ol SR &, STHT ST 3
A) @R (B) 2a3Ed
(C) ™I W (D) <N 1
AT

(b) TS T TA. .. 5.0A. 08, (LABELS) 1 32 2
(A) Th eHe 3Uan fafire shiget
(B) dferal, Tawi AT ST T oh foTC T fehal ST % |
(C) TITOTi &9 1 Iu=THa foha ST Eehall 2 |

(D) (A) T (B) gH 1
29. TaEd ¥ ‘Tuet ot ey’ et ‘[fda weyl o geae oy <l ST © 2
(A) $ Toga =1 v Fh (B) £ Torga =1 w3 Hh
(C) # Torga =1 W b (D) ~ forga =1 w= 1
30. (a) vFHA F=AfIRad & € @ & T Y=o gl S 9uH HEd il &
(A)  TOT ST TAT ST (B) T CHT AT 0T AT
(C) TdTeh AT IUT AT (D) EEHT qUT 9T &1 1
GO
(b) TS 2007 H fopat ufaat Suctes it & 2
(A) 5663 (B) 65536
(C) 172257 (D) 4332 1
31. THEA H WM I A fag’ o1 ST e foRen SiTaT 8 7 9wensy | 3
32. 3ICTEUI Sl TERIAT § “SAhiHeh hIg’ qUT ‘Solich hig’ hl THIST | 3
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Adjustments : During the year a machine costing ¥ 3,00,000 on which
accumulated depreciation was ¥ 45,000 was sold for T 1,35,000.
Calculate ‘Cash flows from Operating Activities’. 6

PART -B
OPTION -11
(Computerised Accounting)

27. Which of the following type of software suffers from the limitation of low
secrecy level and software being prone to data frauds ?
(A) tailored (B) specific
(C) generic (D) (A) and (B) both 1

28. (a) ‘A piece of information shown in a graph which is assigned to the
data series’ is known as :

(A) data point (B) data table
(C) plot point (D) legend 1
OR

(b) ‘LABELS’ in Excel means :
(A) A text or special character
(B) Used for rows, columns or descriptive information

(C) Can be treated mathematically
(D) (A) and (B) both 1

29. How are ‘absolute cell references’ and ‘mixed reference’ identified in Excel ?
(A) using $ sign (B) using £ sign
(C) using # sign (D) using ~ sign 1

30. (a) Excel considers which of the following group of mathematical
operations of equal importance ?
(A) Multiplication and Addition (B) Division and Multiplication

(C) Exponent and Multiplication (D) Subtraction and Division 1
OR
(b) How many rows are available in Excel 2007 ?

(A) 5663 (B) 65536

(C) 172257 (D) 4332 1
31. How to use ‘Mark Common Formula Error’ in Excel ? Explain. 3
32. Explain ‘Sequential Codes’ and ‘Block Codes’ with examples. 3
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33. (a) Sooig IR foh Th =1 ! aei hl STETTHAl &1 TSl & 7 38 hY Faell S
Hehdl & ? IE H1 hal JdT & foh Teh hicH T hl -1 H ST TEME Bidl

2 2 SR T | 4
AET
(b)  SNYHITT IGTeRT TUTTEAT & SATHT T Iooig HINTT | 4
34. : v
insert  Page Layout Formulas Data Review View ) Tell me what yc
AN
| i{,(ﬁut Calibri ‘11 A A T =88 - EPWrap Text
e &3 Copy ~ B I U s 2 s i
ste v by O v == E €= I -
' Format Painter SE A- === £2= [ Merge & Conter
Clipboard Font Alignment

c11 . f

4 A 8 | &8 D E F G 1

_2 1 = 15000 30000 45000

3 2 3 38000 40000 78000

4 3 El 23000 28000 51000

5 4 % 32000 49000 81000

6 5 T 26000 36000 62000

7 6 ™ 20000 32000 52000

8 7 30 24000 40000 64000
Fehufie T TN hid 7Y feu MU ‘diggshar’ ame fa=ma (VLOOKUP f&eaw) Ffe qen
3Hoh U b1 IdT 7IST | 6
(i) =dha @i, 2038, 2, 0)

(i) = THRIIE (SehaTd (S5, 8 : 38, 2, 0) — 100000)

(iii) = <iefeh3Md (T2, U2 : TS, 2, 0)
(iv) =diegham &2, i3, 24, 5, 0)
(v) =diogham (&2, T2 : 38, 0, 0)
(vi) =diegpam (&2, 2, 38, 2, 0)/0
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33. (a) State why do you need to change a chart ? How can it be changed ?
Why is it said that changing a column chart to a pie chart is easy ?
Give reasons. 4

OR

(b) State the advantages of computerized accounting system. 4

34.
insert Page Layout Formulas Data Review View ;‘ Tell me what yc
& i{,(ﬁut Calibri d1 A AN T=E ®-  ErwapText
Paste "BCopy - Bo7 U0 A EEE €= M
« Format Painter e == = == EWegedGante -
Clipboard = - Font e Alignment
Ci1 v Bag : Jr
4 A 8 L@ D E F & H
1 S.No.| Product | Q1 Sales | Q2 Sales | Total half yearly sales
2 1 H 15000] 30000 45000
e 2 I 38000 40000 78000
4 3 J 23000 28000 51000
5 4 K 32000 49000 81000
6 5 L 26000 36000 62000
7 6 M 20000 32000 52000
8 7 0 24000 40000 64000

Using the worksheet find out the error and its reason for the given
‘VLOOKUP’ syntax. 6

(i) =VLOOKUP (B1, B2: ES, 2, 0)

(i) =SQRT (VLOOKUP (B5, BS : ES, 2, 0) — 100000)
(ili) = VLOOKUP (A2, A2 : A8, 2, 0)

(iv) = VLOOKUP (B2, B3, E4, 5, 0)

(v) =VLOOKUP (B2, A2 : ES8, 0, 0)

(vi) = VLOOKUP (B2, B2, ES, 2, 0)/0
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2024
ACCOUNTANCY (055)
Paper Code: (67/4/1)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct assessment
of the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in any
manner could lead to derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be
strictly adhered to and religiously followed. However, while evaluating, answers which are based
on latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator on
the first day, to ensure that evaluation has been carried out as per the instructions given in the
Marking Scheme. If there is any variation, the same should be zero after delibration and discussion.
The remaining answer books meant for evaluation shall be given only after ensuring that there is
no significant variation in the marking of individual evaluators.

6 Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.

Evaluators will not put right (v')while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks awarded
for different parts of the question should then be totalled up and written in the left-hand margin
and encircled. This may be followed strictly.
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8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks should
be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 A full scale of 80 marks as given in question paper has to be used. Please do not hesitate to award
full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines)

13 Ensure that you do not make the following common types of errors committed by the Examiner in

the past:-

® Leaving answer or part thereof unassessed in an answer book.

® Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
e Wrong question wise totaling on the title page.

® Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly

and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should be

marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the

instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior School Certificate Examination, 2024
ACCOUNTANCY (Subject Code-055)
[ Paper Code : 67/4/1]
Maximum Marks : 80

PART-A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)
Q. Marks
No EXPECTED ANSWER / VALUE POINTS
1. | Q. Kanha, Resham and.............ccccceerrrnererrennnee.
1Mark
Ans. (B) 10% p.a.
2. Q. Gupta and Sharma..........eecccreecceecrernrsescenneenes
Ans. (B) 11:4:5 1Mark
3. Q. Aditya, Vishesh and Nimesh..................c...........
Ans. (C)5:2 1Mark
4. | Q. (a) Vishant Ltd. ......cccccervrrvrrverversercrcneccensnnsannns
Ans. (B) 19,000 1Mark
Or or
Q. (b) M Ltd. forfeited .......cccvvrrvrrvernernercenceeseenenns
Ans. (B) 10,000 1Mark
5. [0 T XYY =T ¢ 4 o] o PO
Ans. (A) Both Assertion(A) and Reason(R) are correct and Reason (R) is the correct 1
explanation of Assertion (A). Mark
6. | Q. (a) Vanya and Aanya.........cccccerrrrrnsnssessencnnns 1Mark
Ans. (A) 45,000
Or or
Q. (b) Omkar and Shiva........cccceeervereercercerceesennnnns
Ans. (D) %3,00,000 1Mark

7. | Q. ASSErtion (A) ....cccecevrerrnencseesnesnssnssnssnnsssnnes

Ans. (A) Both Assertion(A) and Reason(R) are correct and Reason (R) is the correct
explanation of Assertion (A). 1Mark

8. | Q.(a) Arnav Ltd........ccceveecrririrrnrcessensennnne

1Mark
Ans. (B) 25,000
Or or
Q. (b) On 15 May,2023..........cccvevereererrernnsessnenas
Ans. (C) X1,00,000 1Mark
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9. | Q. (a) Riya, Rita and........ccceceevvrrrrrrcrrcersersercnnns
Ans. (B) 6% p.a. 1Mark
Or
or
Q. (b) Ravi, Vani and .........cccccecvrrrerrrcesserennne
Ans. (D) 32,000 1Mark
Read the following hypothetical............ccceceuuun.e.ne.
10. | Q. Interest on capital...c..cccccereverceeccecrcrernseeesceeenees
Ans. (A) 5:4 1Mark
11. | Q. INterest ON .....ccccvcciiriireiirceireereereeeeneeeneneenne
Ans. (B) 45,000 1Mark
12. | Q. Vishnu and Mishu.........ccccvereririciereerccssnneeenssennne 1Mark
Ans. (C) 4 %5 months
13. | Q. On the dissolution.......c.cecceuererericicenerirecinneenesesenes
Ans. (C) Cash A/c by 19,800 1Mark
14. | Q.(a) Which one of........ccccccevrrvrrcerversersecneenensnnsnnans 1Mark
Ans. (C) Rent paid to partners
Or or
Q.(b) At the time Of .......ccccveevririrrriererernne
Ans. (A) debited to Revaluation Account 1Mark
15. | Q. As per the provisions.........cccccevneinennsnssenssnssensns
Ans. (B) issue of partly paid bonus shares 1Mark
16. | Q. If VENAOXS ....ucueeeeericeeireresreereee s sesaeresssnaneene
Ans. (C) Capital Reserve Account 1Mark
17. | Q. Reeha, MEeNU..........uuerererireneriiineereressesaeseesesssnens
Ans. Books of Reeha, Meenu and Sara
Journal
L.F Debit Credit
Date | Particulars Amount | Amount
(X) (X)
2023 | General Reserve A/c Dr 50,000
Apr1l To Reeha’s Capital A/c 20,000
To Meenu’s Capital A/c 20,000
To Sara’s Capital A/c 10,000
(General Reserve, transferred to partners’
capital accounts in old ratio)
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Revaluation A/c Dr
“ To Reeha’s Capital A/c

To Meenu’s Capital A/c

To Sara’s Capital A/c

(Profit on revaluation of assets and
reassessment of liabilities transferred to
partners’ capital accounts in old ratio)

Sara’s Capital A/c Dr
“ To Reeha’s Capital A/c
To Meenu’s Capital A/c

( Share of goodwill adjusted to capital
account of partners in their sacrificing ratio
1:1)

30,000

40,000

12,000
12,000
6,000

20,000
20,000

Note- No marks to be awarded for calculation of Sacrificing /Gaining Share.

18. | Q. (a) Mahesh Ltd. .........cuvrrrcrirrrcerennn

(Paid X50,000 by cheque & 5,000 debentures
issued at discount for consideration other
than cash. )

Alternatively

Ans.
Books of Mahesh Ltd.
Journal
L.F Debit Credit
Date | Particulars Amount | Amount
(X) )
(i)
Plant and Machinery A/c Dr 4,50,000
To Ish Ltd. 4,50,000
(Plant& Machinery purchased )
(ii)
Ish Ltd. Dr 4,50,000
Discount on issue of Debentures A/c Dr 1,00,000
To Bank A/c 50,000
To 6% Debentures A/c 5,00,000

1x3

Marks
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(ii) (a)
Ish Ltd. Dr 50,000

To Bank A/c 50,000
(Partial amount paid by cheque to Ish Ltd.)

(ii) (b)

Ish Ltd. Dr 4,00,000
Discount on issue of Debentures A/c Dr 1,00,000
To 6% Debentures A/c 5,00,000

(5,000 debentures issued at discount for
consideration other than cash.)

or Marks
Q. (b) Manika Ltd........ccccccerrrrrrrrnercnrcnrsenenns
Ans. Books of Manika Ltd.
Journal

L.F Debit Credit

Date | Particulars Amount | Amount
(X) )
Share Capital A/c Dr 50,000
To Forfeited Shares A/c 27,500
To Share first call A/c 10,000
To Share second& final call A/c 12,500

(Forfeiture of 500 shares for non payment of
first and second call)

Alternatively

Share Capital A/c Dr 50,000
To Forfeited Shares A/c 27,500
To Calls in Arrears A/c 22,500

(Forfeiture of 500 shares for non payment of
first and second call)

Bank A/c Dr 12,500
Forfeited Shares A/c Dr 12,500
To Share Capital A/c 25,000

(Reissue of 250 shares)
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Forfeited Shares A/c Dr 1,250
To Capital Reserve A/c 1,250

(Balance in forfeited shares account
transferred to capital reserve account.)

1x3

Marks

19.
Q. (a) Aayush and Krish..........cccceeeerrinirisesnessensennnnns
Ans.
Capital Employed= Aayush’s Capital+ Krish’s Capital + General Reserve
=X90,000+%50,000+%20,000
=%1,60,000
Or
Capital Employed= Total Assets- External Liabilities (Loan +Creditors)
=%1,90,000-%25,000-%5,000
=X1,60,000

Capital Employed=X1,60,000.........ccccoeecvrrrerrecnrenen. Z
Normal Profit= 12% of Capital Employed
=12/100 x <1,60,000

=R19,200  .cooviiiiie e iz

Average Profit = 30,000

Super Profit = Average Profit - Normal Profit
=3X30,000- X19,200

= 10,800 oo

Goodwill= Super Profit x No. of years of purchase

Firm’s Goodwill = 10,800 x 4
=R 43,200....c.ceciiiiiieeceeereeere e 2

Vansh’s share of Goodwill= 43,200 x 1/3 Marks
=%14,400.......ccccovvuuueureeen.n. 12
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Or
Q.(b) Varun, Tarun..........ccceveeeveevernecneeneesnessnsnsans
Ans.
Books of Varun,Tarun, Arun and Barun
Journal
L.F Debit Credit
Date Particulars Amount | Amount
(X) (%)
Tarun’s Capital A/c Dr 75,000
2023 Barun’s Capital A/c. Dr 1,50,000
To Varun’s Capital A/c
March , p / 75,000
To Arun’s Capital A/c 1,50,000 1%
31 (Share of goodwill adjusted to capital :
accounts of partners in their gaining ratio
1:2)
Working Notes:
Calculation of Gaining Share:-
Gaining Share= New Share- Old Share
Varun’s Gain= 1/3-5/12=-1/12 (Sacrifice) 1%
Tarun’s Gain=1/3-3/12=1/12 =
Barun’s Gain= 1/3-2/12=2/12 Marks
20. | Q. Atul and Gita.......ccccceverrreerrrerenernsnnce s,
Ans.
Books of Atul and Gita
Journal
L.F Debit Credit
Date Particulars Amount Amount
(%) (X)
Gita’s Current A/c Dr 2,400 X
To Atul’s Current A/c 2,400
(Adjustment for omission of Interest on
Capital)
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Note:- If an examinee has written Capital A/c instead of Current A/c ,full credit is to be
given.
Working Notes:-
Adjustment Table
Particulars Atul Gita
Dr (%) Cr(X) Dr(%) Cr(®) 2
Interest on Capital to 24,000 12,000
be credited
Loss to be debited in 21,600 14,400
the ratio of 3:2 =
Net Effect 2,400 2,400 Marks
Note:- Full credit to be given if working notes are given in any other form.
21.
Q. RONit Ltd.......ccocemerrireerirecrenneneesesnaerenenns
Ans.
Balance Sheet of Ronit Ltd. (An Extract)
AS Atueeeieeeeee e
Particulars Note No. R
I. EQUITY & LIABILITIES
Shareholders’ Funds
Share Capital......ccccecvvvvivinrennne. 1 40,68,000
Notes to Accounts
Particulars X
1.Share Capital
Authorized Capital
75,000 Equity Shares of 100 each................... 75,00,000
Issued Capital
45,000 Equity Shares of 100 €aCh.........oovveuee.. 45,00,000
Subscribed Capital
Subscribed and fully paid up 143
38,700 Equity Shares of X100 each.................. % 38,70,000
+ Forfeited Shares A/c (3300 X 60).......co........ % 1,98,000 =
Marks
40,68,000
9
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22. Q. Ram, Ravi and..........cccceeererrveeererersnnennenes
Ans.
Dr Rohan’s Capital A/c Cr
Particulars Amount Particulars Amount
X X
To Rohan’s By Balance b/d 2 3,00,000
4 1
Executor's A/c 4 | 340,500 | By General Reserve A/c 3,000
By Ram’s Capital A/c(goodwill) 12,000 _
By Ravi’s Capital A/c(goodwill) 18,000 Marks
By Profit &Loss Suspense A/c 7,500
3,40,500 3,40,500
Working Notes:
1. Calculation of Goodwill
Average profit= 45,000+90,000+1,35,000 = 90,000
3
Firm’s Goodwill= Average Profit x 2
=%90,000 x 2
=X 1,80,000
Rohan’s share of goodwill=X1,80,000 x 1/6
=%30,000
2. Calculation of Rohan’s share of Profit= 90,000 x 1/6 x 6/12
=%7,500
Note- No marks to be awarded for working notes.
23.
Q. (a) Lazal Ltd.......cccceevevreerrnerennnnee
Ans.
Books of Lazal Ltd.
Journal
L Debit Credit
Date | Particulars . Amount Amount
F () ()
Bank A/c Dr 16,00,000 %
To Equity Share Application A/c 16,00,000

10
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(Application money received on
3,20,000 shares)

Equity Share Application A/c Dr
To Equity Share Capital A/c
To Equity Share Allotment A/c
To Bank A/c
(Application money transferred to
Equity share capital A/c, Excess
money received adjusted towards

allotment and money refunded on
rejected applications)

Equity Share Allotment A/c Dr
To Equity Share Capital A/c
To Securities Premium A/c
(Amount due on allotment)

Bank A/c Dr
Calls in Arrears A/c Dr
To Equity Share Allotment A/c

(Allotment money received except
that on 10,000 shares)

Alternatively

Bank A/c Dr
To Equity Share Allotment A/c

(Allotment money received except
that on 10,000 shares)

Equity Share First and final Call A/cDr
To Equity Share Capital A/c

(Amount due on 2,00,000 shares on
First Call)

Bank A/c Dr
Calls in Arrears A/c Dr

To Equity Share first and final call
A/c

16,00,000

8,00,000

2,85,000
15,000

2,85,000

6,00,000

5,70,000
30,000

10,00,000
5,00,000
1,00,000

4,00,000
4,00,000

3,00,000

2,85,000

6,00,000

6,00,000

%
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(Amount received on First Call)
Alternatively
Bank A/c Dr 5,70,000
To Equity Share first and final call 5,70,000
A/c
(Amount received on First Call)
Equity Share Capital A/c Dr 1,00,000
Securities Premium A/c Dr 15,000
To Calls in Arrears A/c 45,000
To Forfeited Shares A/c 70,000
(Forfeiture of 10,000 shares for non
payment of allotment and call 1
money)
Alternatively
Equity Share Capital A/c Dr 1,00,000
Securities Premium A/c Dr 15,000
To Share Allotment A/c 15,000
To Sharc.e first & final call A/c 30,000
To Forfeited Shares A/c 70,000
(Forfeiture of 10,000 shares for non
payment of allotment and call
money)
Marks
Or
Q. (b) Chand Ltd. invited..........cccceeurrerrerrrrrnrsnnens
Ans.
Books of Chand Ltd.
Journal
L.F Debit Credit
Date | Particulars Amount Amount
(%) (X)
Bank A/c Dr 7,20,000
To Equity Share Application A/c 7,20,000
12
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(Application money received on

1,80,000 shares)
Equity Share Application A/c Dr 7,20,000
To Equity Share Capital A/c 2,00,000
To Securities Premium A/c 2,00,000 1
To Equity Share Allotment A/c 2,00,000
To Bank A/c 1,20,000

(Application money transferred to
Equity share capital A/c, Securities
Premium A/c & Excess money received
adjusted towards allotment and money
refunded on rejected applications)

Equity Share Allotment A/c Dr 5,00,000 Y
To Equity Share Capital A/c 5,00,000
(Amount due on allotment)
Bank A/c Dr 3,00,000 1
To Equity Share Allotment A/c 3,00,000

(Allotment money received )

Equity Share first & final Call A/c Dr 3,00,000 V2
To Equity Share Capital A/c 3,00,000
(Money due on First and Final Call)
Bank A/c Dr 2,85,000
Calls in Arrears A/c Dr 15,000 1
To Equity Share first & final call A/c 3,00,000

(First and final call money received
except that on 5,000 shares

Alternatively
Bank A/c Dr 2,85,000
To Equity Share first & final call A/c 2,85,000

(First and final call money received
except that on 5,000 shares)

Equity Share Capital A/c Dr
To Calls in Arrears A/c
To Forfeited Shares A/c

50,000
15,000

13
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(Forfeiture of 5,000 shares for non 35,000
payment of first and final call )
Alternatively
Equity Share Capital A/c Dr 50,000
To Equity Share first & final call A/c 15,000 _
To Forfeited Shares A/c 35,000 M-arks
(Forfeiture of 5,000 shares for non
payment of first and final call )
24. | Q. (a) Anikesh and Bhavesh...................
Ans.
Books of Anikesh and Bhavesh
Journal
L.F Debit Credit
Date | Particulars Amount | Amount
(X) )
General Reserve A/c Dr 15,000
To Anikesh’s Capital A/c 10,500
To Bhavesh’s Capital A/c 4,500
(General Reserve balance transferred to
partners’ capital account in old ratio)
Cash A/c /BankA/c Dr 1,20,000
To Chahat’s Capital A/c 90,000
To Premium for goodwill A/c 30,000
(Amount brought in by Chahat as her capital
and her share of goodwill)
Premium for goodwill A/c Dr 30,000
To Anikesh’s Capital A/c 21,000
To Bhavesh’s Capital A/c 9,000
(Goodwill premium brought in by new
partner shared by old partners in their
sacrificing ratio)
Outstanding Wages A/c Dr 9,000
To Cash/ Bank A/c 9,000
(Outstanding wages paid)
Revaluation A/c Dr 12,300
14
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To Stock A/c
. 6,000
To Creditors A/c 6 300
(Decrease in the value of stock and increase in ’
the value of creditors on revaluation
recorded)
Anikesh’s Capital A/c Dr
Bhavesh’s Capital A./c Dr 8,610
To Revaluation A/c 3,690 e
(Loss on revaluation of assets and X
reassessment of liabilities transferred to 12,300 =
partners’ capital account in old ratio) Marks
Or
Q. (b) Prina, Qadir and...........ccccceeeeerueneen.
Ans.
Dr Revaluation A/c Cr
Particulars Amount ) Amount
Particulars
(X) (%)
To Building A/c 1A 3,54,000 | By Land A/c 1A 3,60,000
1
To Provision for doubtful 6,000 1%
debts A/c A
3,60,000 3,60,000
Dr Partners’ Capital A/c Cr
Particulars Prina Qadir Kian Particulars Prina Qadir Kian
X X X X X X
To Qadir's 2,10,000 | - 30,000 | By balance b/d | 9,60,000 | 8,40,000 | 9,00,000
Capital A/c A
% By Workmen 2,80,000 80,000 40,000
To Qadir’s 12,20,000 Compensation
Loan A/c Reserve  A/c 4%
To Kian's By Prina’s
7,40,000 . - 2,10,000
Current Capital A/c
A/c v (goodwill)
30,000
15 i




By Kian’s
Capital A/c
(goodwill)
"5
By  General | 5 10000 | 60,000 30,000
Reserve A/c
./z , 1,60,000
B 2.00,000 By Prina’s
14,00,000 Current A/C
To Balance ” = 6
c/d % 2 Marks
16,10,000 | 12,20,000 | 9,70,000 16,10,000 | 12,20,000 | 9,70,000
25. | Q. Pass the. ........cceeeeceueeenne.
Ans.
Books of Tina and Rina
Journal
L.F Debit Credit
Date Particulars Amount Amount
(X) (X)
(i) Realisation A/c Dr 20,000
To Bank/ Cash A/c 20,000
( An outstanding bill for repairs paid)
(i) Tina’s Capital A/c Dr 32 000
Cash /Bank A/c Dr 52,000
To Realisation A/c
(Stock partially taken over by Tina, a 84,000
partner and partially realized.)
(iii) Tina’s Capital A/c Dr 1200
Rina’s Capital A/c Dr 800
To Realisation A/c
(Shares acquired by partners in 2,000
their profit sharing ratio)
16
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(iv) Realisation A/c Dr

4,000
To Rina’s Capital A/c
(Realisation expenses paid by Rina
credited to her capital account) 4,000
(v) Tina’s Loan A/c Dr 40,000
To Bank/ Cash A/c
(Partner’s Loan paid )
40,000
(vi) Realisation A/c Dr 9,000
To Rina’s Capital A/c
. 1x6
(Loan taken over by Rina, a partner) 9,000
Marks
26. | Q. Pass necessary......cc..cceeeueens
Ans. Books of Ajanta Ltd.
Journal
Date Particulars L. Debit Credit
F Amount Amount
(X) (%)
(i) Bank A/c Dr. 1,80,000
To Debenture Application and AllotmentA/c
(Application money on 9% Debentures 1,80,000 1
received)
Debenture Application and Allotment A/c Dr. 1,80,000
Discount on issue of Debentures A/c Dr. 20,000
To 9% Debentures A/c 2,00,000
(Debentures application money transferred 1
to 9% Debentures Account)
Securities Premium A/c Dr. 15,000
Statement of Profit & Loss Dr. 5,000
To Discount on issue of Debentures A/c 20,000
(Discount on issue of debentures written off) 1
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(ii)
Bank A/c Dr. 2,85,000
To Debenture Application and Allotment A/c 2,85,000
(Application money on 11% Debentures
received) 1
Debenture Application and Allotment A/c Dr. 2,85,000
Loss on issue of Debentures A/c Dr. 45,000
To 11% Debentures A/c 3,00,000
To Premium on redemption of Debentures 30,000
A/c
(Debentures application money transferred
to 11% Debentures A/c) 1
Alternatively
Debenture Application and Allotment A/c Dr 2 85 000
Discount on issue of debentures A/c Dr 15.000
Loss on issue of Debentures A/c Dr 30.000
To 11% Debentures A/c 3,00,000
To Premium on redemption of 30,000
Debentures A/c
(Debentures application money transferred
to 11% Debentures A/c)
Securities Premium A/c Dr. 35,000
Statement of Profit & Loss Dr. 10,000
To Loss on issue of Debentures A/c 45,000
(Loss on issue of debentures written off)
1
Alternatively
Securities Premium A/c Dr. 35,000
Statement of Profit & Loss Dr. 10,000
To Discount on issue of Debentures A/c 15,000
To Loss on issue of Debentures A/c 30,000
(Loss on issue of debentures written off) =
Marks

18
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PART-B
OPTION -I
(Analysis of Financial Statements)
27. | Q. (a)The tool Of ..ot esnesnees 1
Ans. (D) Ratio Analysis Mark
Or
Or
Q. (b) iSAlSO...cccciiiiicie e
Ans. (B) Quick ratio 1Mark
2 S © 101 1ol Q3 =1 1 [ T 1
Ans. (C) Purchase of goods for cash %38,000. Mark
29. | Q. (a) Statement L......ccceveeceicecceeceeserseress e e e snssne s 1
Ans. (D ) Statement | is correct and Statement Il is incorrect. Mark
Or
Or
Q. (b) What will be the.........ccccerrrcrrrrrvercerceicreceecerseesennnnns
Ans . (A) Outflow from Operating Activities 1
Mark
30. | From the above......... et e e caeesanee e 1
Ans. (B) Outflow %3,20,000 Mark
31. | Classify the.......coiniiiiiinnnininnsnnn s sssensnssnnes
Ans.
Item Major Head Sub Head
i Accrued Income Current Assets Other Current Assets
i Capital Advances Non- Current Assets Long term Loans &
Advances
% X6
Marks
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iii Capital work in progress | Non- Current Assets Fixed  Assets/
Property, Plant
& Equipment
and Intangible
Assets-

Capital Work in
Progress.

32. | Q. Abusiness.......cceerriunsserrnniseessnnes
Ans.
Total Current Assets= Working Capital + Current Liabilities

Working Capital = %1,80,000
Working Capital= Current Assets- Current Liabilities
Therefore, 1,80,000= Current Assets- Current Liabilities

Current Assets= 1,80,000 + Current Liabilities ............ Y5

CurrentRatio3:1
Current Ratio = Current Assets/ Current Liabilities

Therefore, 3=1,80,000+ Current Liabilities
1 Current Liabilities

3 Current Liabilities= 1,80,000+ Current Liabilities

Current liabilities= X90,000........cccccceeevvevveeerernnnn. %

Current Assets= 1,80,000 + Current Liabilities

Current Assets= 1,80,000 + 90,000

Current Assets=%2,70,000.......cccccceeeceereeecneennnn. VA

Quick Ratio=1.2:1

Quick Ratio= Quick Assets/ Current Liabilities

1.2/1= Quick Assets/ 90,000

20
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So, Quick Assets = 1-2 x 90,000= X1,08,000
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Inventory = Current Assets- Quick Assets 3
Marks
=2,70,000 - 1,08,000
=%1,62,000................ A
33. | Q.(a) Prepare a.......ccccevvrcercerversencnenns
Ans.
Common Size Balance Sheet of X Ltd. as at 31.3.2022 and 31.3.2023
Particulars Note | Absolute Absolute % of % of
No. Amount Amount Balance Balance
31.3.2022 | 31.3.2023 Sheet Total | Sheet Total
X X 31.3.2022 31.3.2023
I. Equity and Liabilities:
1. Shareholders’ Funds
(a) Equity Share Capital 15,00,000 | 30,00,000 30 37.5 %
(b) Reserves and Surplus 5,00,000 10,00,000 10 12.5 A
2. Non-current liabilities 20,00,000 20,00,000 40 25 %
3. Current Liabilities 10,00,000 20,00,000 20 25 v
TOTAL 50,00,000 | 80,00,000 100 100 \
Il. Assets: %
1.Non-current Assets 30,00,000 | 40,00,000 60 50 %
2. Current Assets
(a) Inventories 20,00,000 | 40,00,000 40 50 %
TOTAL 50,00,000 | 80,00,000 100 100 %
Or = 4
Marks
Q.(b) From the following....................
Ans.
Comparative Statement of Profit and Loss of Y Ltd.
for the year ended 31.3.2023
Particulars Note | 31,3.2022 | 31.3.2023 Absolute %
No. E E Increase/Decrease Increase/
X Decrease
I. Revenue from 20,00,000 | 40,00,000 20,00,000 100 v
Operations
Il. EXPENSES v
Purchase of Stock in trade 12,00,000 | 24,00,000 12,00,000 100
Change in inventories 2,40,000 6,00,000 3,60,000 150 Y
Other expenses 1,60,000 2,00,000 40,000 25 %
21




TOTAL EXPENSES

16,00,000

32,00,000

16,00,000

100

[1l. Profit before Tax (I-Il)

4,00,000

8,00,000

4,00,000

100

IV. Tax @40%

1,60,000

3,20,000

1,60,000

100

V. Profit after Tax

2,40,000

4,80,000

2,40,000

100

(I1-1V)

34. | Q. Following is the.........cccceccceveuueeneenee.
Ans.

Cash flow from Operating Activities

Amount Amount
X X

1,80,000

Particulars

Net Profit before Tax & Extra Ordinary Items
Adjustment for Non-cash and Non-operating items

Add:

Goodwill written off .......ccccoevenenee.

Depreciation ......cccccoevevieivecccinicenne.

Loss on sale of Machinery

60,000
1,95,000
1,20,000

Operating Profit before working capital changes 5,55,000 5
Add- Decrease in Current Assets Increase in
Current Liability
Increase in Trade Payables.............. Z 40,000
Less: Increase in Current Assets Decrease in Current
Liability
Increase in Inventories
Increase in Trade Receivables ........ Z

Cash Generated from Operations

(50,000)
(2,00,000)
3,45,000

Less: Tax Paid......... 60,000

Cash flow from operating activities...

2,85,000

Net Profit for the year X 1,00,000
+%80,000

Net Profit before Tax and Extraordinary items= %1,80,000

+ Provision for tax

Working Notes:-

Accumulated Depreciation A/c =
Dr Cr

22
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Particulars X Particulars X

To Machinery A/c | 45,000 By balance b/d 1,00,000 6

To balance ¢/d 2,50,000 By Depreciation A/c 1,95,000 Marks
2,95,000 2,95,000

Note:- No marks to be awarded for working notes.

PART-B
OPTION -II
(Computerised Accounting)
27. | Q. Which of the........ccccerverrevrrceerennnee 1Mark
Ans. (C) generic
28. | Q. (a) ‘A piece of......cccecevrrerrrrerrennen 1Mark
Ans. (D) legend
Or Or
Q. (b) ‘LABELS’ .......ooreeeeerecceeceeeeennnene 1Mark
Ans. (D) (A) and (B) both
29. | Q. HOW are.....uueeeereieneerseneessnnenesssnnes 1Mark
Ans. (A) Using S sign
30. | Q. (a) Excel considers.........cccceeeveeeverrenns 1Mark
Ans. (B) Division and Multiplication
Or Or
Q. (b) How many rows..........ccceeeeueeceenes 1Mark

Ans. (B) 65536
31. | Q. HOW tO USe.....ceitrreeererereeeneeereerenees

Ans.
Following are the steps to mark common formula errors:
(i) Click the Microsoft Office button, click Excel options and then click the formulas
category.
(ii) In the error checking section, select the Enable background error checking check
box.

(iii) To change the colour of the triangle, that marks where an error occurs in the
indicate errors using the colour box, select a new colour.

(iv) Select a cell with triangle in top left corner of a cell.

(v) Next to the cell click error checking button that appears, and then click the
option that we want. The commands are different for each type of error and the =3
first entry describes the error. If we click Ignore Error, the error is marked to be | Marks
ignored for each consecutive check.

e Repeat the two previous steps

Y% X6
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32. | Q. Explain.......cceerecreeeeeccreceneenne
Ans. Sequential codes:
Numbers and /or letters are assigned in consecutive order. These codes are applied
primarily to source documents such as cheque ,invoices etc. This code can facilitate
searches. This process enables in either identification of missing codes relating to a
particular document or a relevant document can be traced on the basis of code.
For example
A creditor Rohit Ltd can be given a code CLOO1-Rohit Ltd.
Similarly for MS Raj
Block codes:
A range of numbers is partitioned into a desired number of sub ranges and each subrange
is allotted to a specific group . In most of the uses of block codes, numbers within a subrange
follow sequential coding scheme.
e.g.
Codes Dealer type
100-199 Small pump
200-299 Medium pump 1% x2
300-399 Pipes -
Or any other suitable example. Marks
33. | Q.(a) State why do.........ccccecueeueeunens
Ans.
A chart can be changed to another type 1
(1) To give it a different look
(i1) To serve a different purpose
It is easy to change from column chart or bar chart to pie chart because 3
1.0nly one data series is used to plot.
2.the plotted data values are positive. -4
3.the data values are not equal to zero. Marks
Or
Q. (b) State the ......ccccecveveevecennnne or
Ans.
Following are the advantages of CAS (Any four):
1. Timely generation of reports and information in desired format.
2. Efficient record keeping 1x4
3. Ensures effective control over the system _
4. Economy in processing the accounting data. N
5. Confidentiality of data is maintained marks
6. Transparency in recording of data, helps in avoiding frauds.
34. | Q. Using the.......cccuveneennnne. % Mark
Ans. v
(1) Error # N/A ng the
Reason- Value being looked up is not in array range. error

24
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(i)  Error # NUM! +

Reason- Negative value in square root function is invalid. VA
(ii1))  Error # REF! Mark

Reason- The column value being searched is greater than array range provided. each
(iv)  Error # N/A for the

Reason- Lookup value is less than the array range provided. reason
(v) Error # VALUE! 6

Reason- Value being searched is not available as column does not exist.
(vi)  Error # DIV/0!
Reason- Value searched is being divided by zero.

marks
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